145,99

N=

143,74

T=

= UTU006,/9
Skala 1:100/100

Bl Humistn.

K

14421

N=

144,58

T=

FIK = UTU9,00
Skala 1:100/100

144,38

N=

144,10

T=

UTU 19,00

Skala 1:100/100

Bl Hum.istn.

K

177,04

N

PRZEKROJE POPRZECZNE '~ "%

EVARVVVAVY
Skdla 1100/ 100

Bl Hum. istn.

rIK

6,14m?2

4,33m2

Bl Hum.istn.

. Hum. proj.

0,87m2

1,9m2

1,99m?2

[ nasyp
[ wykor

=0,44m2
0,0om2
14200

P=

Bppc

. Hum. proj.
] NasYP

il
|

1,78m2

0,00m2

=0,25m2
1,00m2
0,24m?2

. Hum. proj.
] NasYP
[ wykop

=0,00m2
0,00m2
700

p=

S

. Hum. proj.
[]Nasyp

Fogoi [ osl
- 69TH [ 0GL
- 6CH - 60 0GY
A%
- gy - 0Se
-m,mh@_ -@@ﬁi -m&mﬁ L m@N
COGCH E oGy F Al F T
We [ orey [ 8000 [ 06 N
- 66TH TV F RS F000
FOVER F 0
- 051 - 00y
BN RS RS A s Y
- Ggen FoLSH ”wmmﬁ ¢
S0V T 00 |
([@p)
)
=
- 80 GEG- Il
= 4
- 065K T STH FOSTR 000
8
=
E
- IS F 00T z_m
- o FOTH F LSRR F 0S| =F
SO0 8ol g | 006 8 [ e | 7
. =
As | - 0g-
- L - F 00— o
-
1l
- 86T T OvEH - 0511~ - 6RO
9o | wen | . ,
& LI e oo
G6TH | 8GTH G-
- 99T F 00—
- g 0091~
- 280% 006~
- 090 00—
|©vwi_ - 9T u%wu
- GH 0512~
- gy 057
- /801 TS - 69 00El-
%, =S| V|l 5 o O WMZW%; =S| Ul 5 o o M
=2 &|B|lgl 22 Tia=|gl8lalgl 22 ¢
SIS S8 eg sl | 5131518 €9 ¢
=S| F| =S| £= 2248 =S| F| =Sl s £= °
Al alalm| @ ceofqg |l alalal | @< ¢
I B I I e I = = T I I A e I L=
RRROW%..D. RRROW%.
F 0 058
-0 F 0SS
L —m&ﬁv— L O@ﬁ |No»v$ B Ommv
- 66T oy
L0 L OIS Lo L gz
C 00 F 6O F oAl F
104 [ cey) [ [ 0k O
o i
i E s | A,_I_T
m =
- o5 - 0Y “ h ” “
- A% OSSO 000 .
- g0 - oS & i}
= 1l
| Qb | 8LSH o G A .
C QY ESC T E
o [t | 20 0 1091 | &yl
e F i 9 p 80
61 | 1L5H
0ei | ogeyl g
¢ 3 ¢ B B — B B Y.
-7 F 69O T 8SH - 000 Bt T el [ e - o
- IS FOve-
A |9 | o
gy Fgt e B
gl | E8oH
15 | oy oo
E I F S F e F adse
Ievi | G [T [ 00%
- O IgeH F T | 006
- i Fogteyl - g1~
v B I |
- ST FO0H-
- GO Sl - 0G11-
- F OO |
ooyl | 9ol “
-Gyl £ a0l esh p 008
Gyl | 00 96~ i
- Grii - P00z —
- ST -0210-
- e ﬂ
| 6gsr | . o
C oGyl £ 80 [ Y ”o%m-
(Gl [ 80
|Q}u$ | oot - vdwl - LN/ 7—
S Fekns & FOLT
. T . 9 . Y E
3Ll .| 88 23t 234l .| 88 2=
| S| Bl 3 o AT e = Tzl S B G
o x| |8 ©«5 Lo o X8 55 Lo
Uiglyl s g8 el gyl g T2 0
S8 88 5% 552 2| 5|8 88 58 &
~N N N () ~ o - - = o ~ ~ ~ = o S T T
RRRODM%AU.._H_. DnDnDnO.DMnL\Au.-
L 16%H | 058
- 007 et F s
Lo ) L0
-o% BT | e | ONMM
POyl T e [ LO8 gy 0 L o
&l | S0 07 ”
L | L 059
ot L ggon | o [0
A TR
-nQvE L Omﬁm -*o:.& B Omﬁ
goH
L L ey Loy
%0 099
I | 6/ »
oy | el :
n@N»vv— nmm»m.v— C m@m
I egcy oGt
-0 F 062 T
Al 24
U s 3
- 8CHL 98 - ooy 1
I =
=
LA koo - I FECSH 9 o000 "
N
& =4
oy L | L WM i 8
YA 0y - Ui or1- e
» o oyl | 18 “ _
G - F O gy L gt 050
I - - T o
3 ¢ ¢ Oval
i oy | o 9 T gpe-
. i e e
- U 0Se " i - kL
h sl - 009~
-0 F 0o~
- GTHL 00
- A% FoS0-
- O OGS
- LT FOSH-
- 8T 00 - T 00T
w . : = N W mW o m . : = ©
=1 3L gl | m8 dits =13 <Lly2| ~| 8
= ESE8| R8s 118 TEI g E| 8| 85
| w| w| 2 < m 2 5dd ol wl wl| 8 <? m
22|21 & 2o I Z 228 &=
o | ol al o Ecsls |l Ol ol o W
2| I N al '8 == ol g gl al 38
RRROW%\M.._H_- RRROW%
ooy e [0 F QR
-9 059
- 19 T 607H - 0Ge "
L 09 | 09T F
S g 2
(¢l | 9%l 0 I
0o oo0s | -
oo | 3 ©
L o 2
-9 T O 9T 000 L mg - e F
m,@m,v— |MQ§ - Oo.m. .h
L6y |0z
oy mOGHL [ 607 H
< |
-9 F O - 057 n \
=
-6 OO F IS 000
m
=
=
.h
L oc | S0
o | SO S [ 0L
| e
- SO - 069- 0l | ogi | gos
- 2991 - 05-
-9 AR F O 0ge- - O 00
T =S =
. . = > Ne») S ™ o N . 3 = (e} o B o~ QY
S 2| B o 82 co5F| 2|8l B ol B2 8952
| x| /| KR OW LG O 2| &= | LR ﬂW Ll =o
ol w | w8 s zLad W w | w9 s 214
Z | =z Zz|&| &= cZ5C | =2 2| 2| & &= cosc
oD a] o 222D DO S o 22z
~N ~ ~ = O - L = =0 ~ =~ = = 3 £ =
ol ool o £ B0 | x| oo 2] O 5= EECO

0,29m2

. Hum. proy.
[ Nasyp
=

2,26m?2

] NASYP

5,50m2

1,94m?2

[ wykop

4,61m?2

. Hum. istn.

=0,02m2

WYKOP

PR = 14100

RZEDNE PROJ.

gAY/
- 85CHl

- 99°%Hl

gy

- 99CH

- gyl
- 0

gy

- 95Tl

- 16T

Ay

sy

iy

iy
Ay

Ry

Sy
0r el

- 65T

sy

- 0EY

C onwu
Q¢

- omﬁf
- 08%-

- om;m.l

- 070~

RZEDNE KONS.

RZEDNE TEREN
ODLEGLOSC)

- 651

T
5
=

- 6811

058

- 651

6604l |
-0

oy
%677

- GO

- 90

-

gy

Ry

gy

gy

- 6811

- 0l

- g

- GO

- 96CHl

" 09

C mmwu
00Y-

- ov»m,l

- 006~

L oﬂ—l

-0

- 66 | 008l

- B6CHl

- 0012~
-051e-
012z~

- GO

-00°GZ-

PP. = 14100

RZEDNE PROJ.

RZEDNE KONS.
RZFDNE TEREN
ODLEGLOSC)

z

g

ARy

RALBRAY

-1

ey

Ry

ey

-

- 081

3
[Fe)

555

000

- QQNI

- 067~

- 0511-

- BCH

- 9y

-Gy

-05a-

00~

=0,15m2

. Hum. proj.

PP. = 141,00

RZEDNE PROU.

0,00m2

[ NaSYP

R

14200

P::
RZEDNE PROJ.
RZEDNE KONS.

Eppe

RZFDNE TEREN
ODLEGLOSC

- 06T

- 007 -
- Ll

YA - 66T E

- 1077

eS|+
IQ§ -

pa

-8yl
gy il

==8
==

- N:ﬂv— C
- 05T B
- 6l N

|@¢ﬁv— -

059-

RZFDNE KONS.
RZFDNE TEREN
ODLEGLOSC)

20,52 ;Y = 28,11

Wymiary arkusza X



